
 

  

 
Appendix No.2 

 
 
 
 

 
Allocation of the Company‘s profit (loss) for the y ear 2013 

 

     

 

Amount  

(LTL) 

Amount  

(EUR) 

Retained earnings (loss) in the end of the last 
financial year  (13 084 173) ( 3 789 438) 

The current financial year profit (loss) , which arose 
from the revaluation reserve and was not 
recognized in the Profit Loss statement  130 527 37 803 

Net profit (loss) for the current financial year       (2 335 646)  (676 450) 

Profit (loss) for allocation at the end of the current 
financial year  (15 289 292)  ( 4 428 085) 

Shareholders' contribution against losses 

 

- - 

Transfers from the reserves 

 

(15 289 292) 

- 

(4 428 085) 

- 

Allocation of the profit:  

  - to legal reserves                                                                     

  - to other reserves  

  - to dividends 

  - other  

- 

- 

- 

- 

- 

- 

- 

- 

Retained earnings (loss) in the end of the fiscal 
year (15 289 292) ( 4 428 085) 

 
 


